PROJECT:	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations  STP-0300(184)														
	Oahu - Area 1				LAWE JCTION, LLC	GRACE P	ACIFIC LLC		BUILDERS ORP	JAS. W. GL	OVER, LTD.		& HIGHWAY LDERS	DEPAR' TRANSF	OF HAWAII RTMENT OF PORTATION
TYPE CODE:	25 (2000) (2000) (2000)													HIGHVVA	YS DIVISION
DATE ADVERTISED: BID OPENED:	January 21, 2022 February 24, 2022														
COMPLETION TIME:	Twelve (12) Months														
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	F.A.	F.A.	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00
301.0100	3 Inch HMA Base Course	5,000-50,000	SY	\$21.40	\$1,070,000.00	\$21.00	\$1,050,000.00	\$32.70	\$1,635,000.00	\$36.00	\$1,800,000.00	\$33.00	\$1,650,000.00	\$130.00	\$6,500,000.00
301.0100	3 Inch HMA Base Course	50,001-100,000	SY	\$21.00	\$2,100,000.00	\$20.40	\$2,040,000.00	\$31.10	\$3,110,000.00	\$35.00	\$3,500,000.00	\$33.00	\$3,300,000.00	\$125.00	\$12,500,000.0
301.0100	3 Inch HMA Base Course	100,001-150,000	SY	\$20.10	\$3,015,000.00	\$19.55	\$2,932,500.00	\$30.00	\$4,500,000.00	\$35.00	\$5,250,000.00	\$33.00	\$4,950,000.00	\$120.00	\$18,000,000.0
301.0200	4 Inch HMA Base Course	5,000-50,000	SY	\$28.00	\$1,400,000.00	\$27.50	\$1,375,000.00	\$40.80	\$2,040,000.00	\$47.00	\$2,350,000.00	\$44.00	\$2,200,000.00	\$175.00	\$8,750,000.0
301.0200	4 Inch HMA Base Course	50,001-100,000	SY	\$27.50	\$2,750,000.00	\$27.10	\$2,710,000.00	\$39.20	\$3,920,000.00	\$46.00	\$4,600,000.00	\$44.00	\$4,400,000.00	\$170.00	\$17,000,000.0
301.0200	4 Inch HMA Base Course	100,001-150,000	SY	\$26.40	\$3,960,000.00	\$25.80	\$3,870,000.00	\$38.40	\$5,760,000.00	\$46.00	\$6,900,000.00	\$44.00	\$6,600,000.00	\$165.00	\$24,750,000.0
301.0300	5 Inch HMA Base Course	5,000-50,000	SY	\$34.30	\$1,715,000.00	\$34.35	\$1,717,500.00	\$48.90	\$2,445,000.00	\$59.00	\$2,950,000.00	\$55.00	\$2,750,000.00	\$220.00	\$11,000,000.0
301.0300	5 Inch HMA Base Course	50,001-100,000	SY	\$32.80	\$3,280,000.00	\$33.35	\$3,335,000.00	\$47.40	\$4,740,000.00	\$58.00	\$5,800,000.00	\$55.00	\$5,500,000.00	\$215.00	\$21,500,000.0
301.0300	5 Inch HMA Base Course	100,001-150,000	SY	\$31.70	\$4,755,000.00	\$32.00	\$4,800,000.00	\$46.40	\$6,960,000.00	\$58.00	\$8,700,000.00	\$55.00	\$8,250,000.00	\$210.00	\$31,500,000.00
401.0100	HMA Pavement, Mix No. V Leveling	50-500	Ton	\$140.00	\$70,000.00	\$244.00	\$122,000.00	\$394.00	\$197,000.00	\$350.00	\$175,000.00	\$781.00	\$390,500.00	\$250.00	\$125,000.00
401.0100	HMA Pavement, Mix No. V Leveling	501-5,000	Ton	\$106.00	\$530,000.00	\$176.00	\$880,000.00	\$394.00	\$1,970,000.00	\$350.00	\$1,750,000.00	\$293.00	\$1,465,000.00	\$225.00	\$1,125,000.00
401.0420	2 Inch HMA Pavement, Mix No. IV	5,000-50,000	SY	\$14.70	\$735,000.00	\$20.50	\$1,025,000.00	\$29.90	\$1,495,000.00	\$29.00	\$1,450,000.00	\$28.00	\$1,400,000.00	\$30.00	\$1,500,000.0
401.0420	2 Inch HMA Pavement, Mix No. IV	50,001-100,000	SY	\$14.30	\$1,430,000.00	\$18.70	\$1,870,000.00	\$27.50	\$2,750,000.00	\$28.00	\$2,800,000.00	\$28.00	\$2,800,000.00	\$28.00	\$2,800,000.0
401.0420	2 Inch HMA Pavement, Mix No. IV	100,001-150,000	SY	\$13.40	\$2,010,000.00	\$17.50	\$2,625,000.00	\$26.40	\$3,960,000.00	\$28.00	\$4,200,000.00	\$28.00	\$4,200,000.00	\$25.00	\$3,750,000.0
401.0510	3 Inch HMA Pavement, Mix No. IV	5,000-50,000	SY	\$21.30	\$1,065,000.00	\$29.00	\$1,450,000.00	\$39.30	\$1,965,000.00	\$42.00	\$2,100,000.00	\$41.00	\$2,050,000.00	\$40.00	\$2,000,000.00
<u>L</u>		,	2	l.										Sheet No. 1 of 4 Sh	Acerta

0.00 0.000 0.000 0.000 0.000 0.000 0.000	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations STP-0300(184)														
ISLAND:	Oahu - Area ′				AWE CTION, LLC	GRACE P	ACIFIC LLC		BUILDERS ORP	JAS. W. G	LOVER, LTD.		& HIGHWAY LDERS	DEPAR	OF HAWAII RTMENT OF PORTATION
TYPE CODE:	2′				30									HIGHWA	YS DIVISION
DATE ADVERTISED: BID OPENED:	January 21, 2022 February 24, 2022														
COMPLETION TIME:	Twelve (12) Months	2 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	-		-	-			-			4			-
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
401.0510	3 Inch HMA Pavement, Mix No. IV	50,001-100,000	SY	\$20.80	\$2,080,000.00	\$27.15	\$2,715,000.00	\$37.20	\$3,720,000.00	\$41.00	\$4,100,000.00	\$41.00	\$4,100,000.00	\$38.00	\$3,800,000.00
401.0510	3 Inch HMA Pavement, Mix No. IV	100,001-150,000	SY	\$19.50	\$2,925,000.00	\$26.10	\$3,915,000.00	\$35.80	\$5,370,000.00	\$41.00	\$6,150,000.00	\$41.00	\$6,150,000.00	\$35.00	\$5,250,000.00
401.0700	2 Inch PMA Pavement, Mix No. IV	5,000-50,000	SY	\$20.30	\$1,015,000.00	\$23.50	\$1,175,000.00	\$39.00	\$1,950,000.00	\$32.50	\$1,625,000.00	\$29.00	\$1,450,000.00	\$40.00	\$2,000,000.00
401.0700	2 Inch PMA Pavement, Mix No. IV	50,001-100,000	SY	\$19.90	\$1,990,000.00	\$21.55	\$2,155,000.00	\$37.00	\$3,700,000.00	\$31.50	\$3,150,000.00	\$29.00	\$2,900,000.00	\$38.00	\$3,800,000.00
401.0700	2 Inch PMA Pavement, Mix No. IV	100,001-150,000	SY	\$18.70	\$2,805,000.00	\$20.25	\$3,037,500.00	\$36.00	\$5,400,000.00	\$31.50	\$4,725,000.00	\$29.00	\$4,350,000.00	\$35.00	\$5,250,000.00
401.0710	3 Inch PMA Pavement, Mix No. IV	5,000-50,000	SY	\$29.70	\$1,485,000.00	\$33.00	\$1,650,000.00	\$53.00	\$2,650,000.00	\$46.50	\$2,325,000.00	\$44.00	\$2,200,000.00	\$50.00	\$2,500,000.00
401.0710	3 Inch PMA Pavement, Mix No. IV	50,001-100,000	SY	\$29.20	\$2,920,000.00	\$31.35	\$3,135,000.00	\$51.00	\$5,100,000.00	\$45.50	\$4,550,000.00	\$44.00	\$4,400,000.00	\$48.00	\$4,800,000.00
401.0710	3 Inch PMA Pavement, Mix No. IV	100,001-150,000	SY	\$27.60	\$4,140,000.00	\$30.10	\$4,515,000.00	\$50.00	\$7,500,000.00	\$45.50	\$6,825,000.00	\$44.00	\$6,600,000.00	\$45.00	\$6,750,000.00
401.0720	Third-Party Profile Testing and Equipment	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
401.0730	Third-Party Dispute Resolution Profile Testing	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
401.0740	Pavement Smoothness Incentive	Allow.	Allow.	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00
401.0800	Overtime Labor Premium	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
404.0100	Slurry Seal	5,000-50,000	SY	\$8.33	\$416,500.00	\$9.30	\$465,000.00	\$12.00	\$600,000.00	\$8.50	\$425,000.00	\$11.55	\$577,500.00	\$15.00	\$750,000.00
404.0100	Slurry Seal	50,001-100,000	SY	\$7.65	\$765,000.00	\$8.50	\$850,000.00	\$11.00	\$1,100,000.00	\$8.00	\$800,000.00	\$10.63	\$1,063,000.00	\$12.00	\$1,200,000.00
404.0100	Slurry Seal	100,001-150,000	SY	\$6.95	\$1,042,500.00	\$7.75	\$1,162,500.00	\$10.00	\$1,500,000.00	\$7.25	\$1,087,500.00	\$9.69	\$1,453,500.00	\$10.00	\$1,500,000.00
406.0420	2 Inch SMA Pavement	5,000-50,000	SY	\$21.70	\$1,085,000.00	\$27.65	\$1,382,500.00	\$38.80	\$1,940,000.00	\$34.00	\$1,700,000.00	\$41.00	\$2,050,000.00	\$50.00	\$2,500,000.00
406.0420	2 Inch SMA Pavement	50,001-100,000	SY	\$21.20	\$2,120,000.00	\$25.65	\$2,565,000.00	\$36.80	\$3,680,000.00	\$33.50	\$3,350,000.00	\$41.00	\$4,100,000.00	\$48.00	\$4,800,000.00
406.0420	2 Inch SMA Pavement	100,001-150,000	SY	\$20.00	\$3,000,000.00	\$24.50	\$3,675,000.00	\$35.90	\$5,385,000.00	\$33.50	\$5,025,000.00	\$41.00	\$6,150,000.00	\$45.00	\$6,750,000.00
														Shoot No. 2 of 4 St	

PROJECT NO  ISLAN  TYPE COD  DATE ADVERTISE  BID OPENE	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations  D.: STP-0300(184)  D: Oahu - Area *  D: January 21, 2022 D: February 24, 2022  Twelve (12) Months				-AWE ICTION, LLC	GRACEP	ACIFIC LLC		BUILDERS	JAS. W. C	SLOVER, LTD.		& HIGHWAY ILDERS	DEPAR TRANS	OF HAWAII RTMENT OF PORTATION LYS DIVISION
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
406.0510	3 Inch SMA Pavement	5,000-50,000	SY	\$31.80	\$1,590,000.00	\$39.40	\$1,970,000.00	\$53.60	\$2,680,000.00	\$50.00	\$2,500,000.00	\$61.00	\$3,050,000.00	\$70.00	\$3,500,000.00
406.0510	3 Inch SMA Pavement	50,001-100,000	SY	\$31.20	\$3,120,000.00	\$37.70	\$3,770,000.00	\$51.90	\$5,190,000.00	\$49.00	\$4,900,000.00	\$61.00	\$6,100,000.00	\$65.00	\$6,500,000.00
406.0510	3 Inch SMA Pavement	100,001-150,000	SY	\$29.50	\$4,425,000.00	\$37.50	\$5,625,000.00	\$50.70	\$7,605,000.00	\$49.00	\$7,350,000.00	\$61.00	\$9,150,000.00	\$60.00	\$9,000,000.00
406.0720	Third-Party Profile Testing and Equipment	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
406.0730	Third-Party Dispute Resolution Profile Testing	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	5,000-50,000	SY	\$5.85	\$292,500.00	\$8.20	\$410,000.00	\$14.80	\$740,000.00	\$12.00	\$600,000.00	\$14.00	\$700,000.00	\$50.00	\$2,500,000.00
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	50,001-100,000	SY	\$5.35	\$535,000.00	\$7.40	\$740,000.00	\$12.80	\$1,280,000.00	\$11.50	\$1,150,000.00	\$14.00	\$1,400,000.00	\$45.00	\$4,500,000.00
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	100,001-150,000	SY	\$5.00	\$750,000.00	\$6.70	\$1,005,000.00	\$11.50	\$1,725,000.00	\$11.50	\$1,725,000.00	\$14.00	\$2,100,000.00	\$40.00	\$6,000,000.00
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	5,000-50,000	SY	\$7.40	\$370,000.00	\$10.20	\$510,000.00	\$16.50	\$825,000.00	\$16.00	\$800,000.00	\$18.00	\$900,000.00	\$70.00	\$3,500,000.00
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	50,001-100,000	SY	\$6.70	\$670,000.00	\$9.50	\$950,000.00	\$14.70	\$1,470,000.00	\$15.00	\$1,500,000.00	\$18.00	\$1,800,000.00	\$65.00	\$6,500,000.00
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	100,001-150,000	SY	\$6.00	\$900,000.00	\$8.30	\$1,245,000.00	\$13.60	\$2,040,000.00	\$15.00	\$2,250,000.00	\$18.00	\$2,700,000.00	\$60.00	\$9,000,000.00
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	5,000-50,000	SY	\$8.80	\$440,000.00	\$12.55	\$627,500.00	\$18.30	\$915,000.00	\$19.00	\$950,000.00	\$23.00	\$1,150,000.00	\$85.00	\$4,250,000.00
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	50,001-100,000	SY	\$7.95	\$795,000.00	\$12.00	\$1,200,000.00	\$16.60	\$1,660,000.00	\$18.50	\$1,850,000.00	\$23.00	\$2,300,000.00	\$80.00	\$8,000,000.00
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	100,001-150,000	SY	\$7.30	\$1,095,000.00	\$10.50	\$1,575,000.00	\$15.40	\$2,310,000.00	\$18.50	\$2,775,000.00	\$23.00	\$3,450,000.00	\$75.00	\$11,250,000.00
415.0100	2 Inch Cold Planing	5,000-50,000	SY	\$3.50	\$175,000.00	\$7.00	\$350,000.00	\$12.00	\$600,000.00	\$11.00	\$550,000.00	\$9.00	\$450,000.00	\$14.00	\$700,000.00
415.0100	2 Inch Cold Planing	50,001-100,000	SY	\$3.05	\$305,000.00	\$6.00	\$600,000.00	\$10.00	\$1,000,000.00	\$10.00	\$1,000,000.00	\$9.00	\$900,000.00	\$12.00	\$1,200,000.00
415.0100	2 Inch Cold Planing	100,001-150,000	SY	\$2.75	\$412,500.00	\$5.00	\$750,000.00	\$8.90	\$1,335,000.00	\$9.50	\$1,425,000.00	\$9.00	\$1,350,000.00	\$10.00	\$1,500,000.00
415.0200	3 Inch Cold Planing	5,000-50,000	SY	\$4.70	\$235,000.00	\$9.40	\$470,000.00	\$13.20	\$660,000.00	\$14.50	\$725,000.00	\$14.00	\$700,000.00	\$17.00	\$850,000.00
<u> </u>	<u></u>							4					-	Sheet No. 3 of 4 St	E Santa Para

	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations STP-0300(184)	ice	CC											STATE	OF HAWAII
ISLAND:	Oahu - Area ´				LAWE	GRACE P	ACIFIC LLC		D BUILDERS	JAS. W. G	SLOVER, LTD.		& HIGHWAY	DEPAR	RTMENT OF
TYPE CODE:	2′			CONSTRU	JCTION, LLC			,	CORP			ВО	ILDERS		PORTATION AYS DIVISION
DATE ADVERTISED: BID OPENED:	January 21, 2022 February 24, 2022														
COMPLETION TIME:	Twelve (12) Months	455501		e.	<b>1</b> 5:				<b>:</b>	;	-	-			
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
415.0200	3 Inch Cold Planing	50,001-100,000	SY	\$4.15	\$415,000.00	\$8.40	\$840,000.00	\$11.20	\$1,120,000.00	\$13.50	\$1,350,000.00	\$14.00	\$1,400,000.00	\$15.00	\$1,500,000.00
415.0200	3 Inch Cold Planing	100,001-150,000	SY	\$3.80	\$570,000.00	\$7.50	\$1,125,000.00	\$9.80	\$1,470,000.00	\$13.00	\$1,950,000.00	\$14.00	\$2,100,000.00	\$13.00	\$1,950,000.00
416.0150	Scarify Existing Pavement	5,000-50,000	SY	\$1.80	\$90,000.00	\$3.05	\$152,500.00	\$10.80	\$540,000.00	\$4.50	\$225,000.00	\$6.00	\$300,000.00	\$10.00	\$500,000.00
416.0150	Scarify Existing Pavement	50,001-100,000	SY	\$1.70	\$170,000.00	\$2.05	\$205,000.00	\$8.80	\$880,000.00	\$4.00	\$400,000.00	\$6.00	\$600,000.00	\$10.00	\$1,000,000.00
416.0150	Scarify Existing Pavement	100,001-150,000	SY	\$1.65	\$247,500.00	\$1.80	\$270,000.00	\$7.60	\$1,140,000.00	\$4.00	\$600,000.00	\$6.00	\$900,000.00	\$10.00	\$1,500,000.00
417.1000	Cut Cores to Determine Existing Pavement Condition	1-50	Each	\$500.00	\$25,000.00	\$250.00	\$12,500.00	\$500.00	\$25,000.00	\$250.00	\$12,500.00	\$2,000.00	\$100,000.00	\$2,500.00	\$125,000.00
604.0100	Adjusting Manhole Cast Iron Frame and Cover	1-100	Each	\$3,410.00	\$341,000.00	\$5,000.00	\$500,000.00	\$3,200.00	\$320,000.00	\$2,200.00	\$220,000.00	\$5,000.00	\$500,000.00	\$2,500.00	\$250,000.00
623.0100	Loop Detector Sensing Unit (6 Ft x 6 Ft)	1-100	Each	\$1,120.00	\$112,000.00	\$2,500.00	\$250,000.00	\$1,300.00	\$130,000.00	\$1,700.00	\$170,000.00	\$1,600.00	\$160,000.00	\$3,000.00	\$300,000.00
623.0100	Loop Detector Sensing Unit (6 Ft Diameter)	1-100	Each	\$1,020.00	\$102,000.00	\$2,500.00	\$250,000.00	\$1,200.00	\$120,000.00	\$1,600.00	\$160,000.00	\$1,500.00	\$150,000.00	\$3,000.00	\$300,000.00
623.0300	Approach-Only Microwave Vehicle Detector	1-50	Each	\$4,580.00	\$229,000.00	\$5,000.00	\$250,000.00	\$2,700.00	\$135,000.00	\$3,400.00	\$170,000.00	\$3,824.20	\$191,210.00	\$5,000.00	\$250,000.00
627.0100	Vehicular Counting and Classification System Sensor Replacement	F.A.	F.A.	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00
645.0100	Traffic Control (Shoulder Closure, per day)	10-200	Each	\$17,800.00	\$3,560,000.00	\$1,975.00	\$395,000.00	\$1,300.00	\$260,000.00	\$8,000.00	\$1,600,000.00	\$5,500.00	\$1,100,000.00	\$2,000.00	\$400,000.00
645.0200	Traffic Control (Flagging Operation, per day)	10-200	Each	\$17,800.00	\$3,560,000.00	\$4,250.00	\$850,000.00	\$2,300.00	\$460,000.00	\$9,500.00	\$1,900,000.00	\$10,000.00	\$2,000,000.00	\$3,000.00	\$600,000.00
645.0300	Traffic Control (Single-Lane Closure, per day)	10-200	Each	\$17,800.00	\$3,560,000.00	\$3,450.00	\$690,000.00	\$2,300.00	\$460,000.00	\$8,500.00	\$1,700,000.00	\$8,700.00	\$1,740,000.00	\$3,500.00	\$700,000.00
645.1000	Electronic Message Board (per day)	10-400	Each	\$500.00	\$200,000.00	\$2,950.00	\$1,180,000.00	\$300.00	\$120,000.00	\$250.00	\$100,000.00	\$250.00	\$100,000.00	\$2,500.00	\$1,000,000.00
	Sum of All Items - Area 1				\$87,685,500.00		\$93,687,000.00		\$136,977,000.00		\$143,490,000.00		\$149,710,710.00		\$304,295,000.00
	certify that this is a true and correct tabulation of bids for this project.														
	Holly. Cfuan	Mar 11, 2022							* Bid Rejected - Ins	ufficient Bid Bon	d	** Bid Rejected	- Insufficient SBE Go	al	
	Holly Yuen, Project Manager	Date							8264V			ंदरार		Sheet No. 4 of 4 SI	

PROJECT: PROJECT NO.: ISLAND: TYPE CODE: DATE ADVERTISED:	January 21, 2022 February 24, 2022			GRACE P	ACIFIC LLC		AWE CTION, LLC		BUILDERS	JAS. W. G	LOVER, LTD.	ACCOUNT NAME (1988)	& HIGHWAY LDERS	DEPART TRANSP	OF HAWAII TMENT OF PORTATION YS DIVISION
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	F.A.	F.A.	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00
301.0100	3 Inch HMA Base Course	5,000-50,000	SY	\$20.60	\$1,030,000.00	\$23.20	\$1,160,000.00	\$32.30	\$1,615,000.00	\$37.00	\$1,850,000.00	\$32.00	\$1,600,000.00	\$130.00	\$6,500,000.00
301.0100	3 Inch HMA Base Course	50,001-100,000	SY	\$20.15	\$2,015,000.00	\$22.70	\$2,270,000.00	\$30.70	\$3,070,000.00	\$36.00	\$3,600,000.00	\$32.00	\$3,200,000.00	\$125.00	\$12,500,000.00
301.0100	3 Inch HMA Base Course	100,001-150,000	SY	\$19.30	\$2,895,000.00	\$21.70	\$3,255,000.00	\$29.50	\$4,425,000.00	\$36.00	\$5,400,000.00	\$32.00	\$4,800,000.00	\$120.00	\$18,000,000.00
301.0200	4 Inch HMA Base Course	5,000-50,000	SY	\$27.20	\$1,360,000.00	\$30.20	\$1,510,000.00	\$40.40	\$2,020,000.00	\$48.00	\$2,400,000.00	\$43.00	\$2,150,000.00	\$175.00	\$8,750,000.00
301.0200	4 Inch HMA Base Course	50,001-100,000	SY	\$26.75	\$2,675,000.00	\$29.70	\$2,970,000.00	\$38.70	\$3,870,000.00	\$47.00	\$4,700,000.00	\$43.00	\$4,300,000.00	\$170.00	\$17,000,000.00
301.0200	4 Inch HMA Base Course	100,001-150,000	SY	\$25.20	\$3,780,000.00	\$28.50	\$4,275,000.00	\$37.80	\$5,670,000.00	\$47.00	\$7,050,000.00	\$43.00	\$6,450,000.00	\$165.00	\$24,750,000.00
301.0300	5 Inch HMA Base Course	5,000-50,000	SY	\$33.50	\$1,675,000.00	\$37.10	\$1,855,000.00	\$48.30	\$2,415,000.00	\$60.00	\$3,000,000.00	\$54.00	\$2,700,000.00	\$220.00	\$11,000,000.00
301.0300	5 Inch HMA Base Course	50,001-100,000	SY	\$32.60	\$3,260,000.00	\$35.50	\$3,550,000.00	\$46.80	\$4,680,000.00	\$59.00	\$5,900,000.00	\$54.00	\$5,400,000.00	\$215.00	\$21,500,000.00
301.0300	5 Inch HMA Base Course	100,001-150,000	SY	\$31.35	\$4,702,500.00	\$34.40	\$5,160,000.00	\$45.80	\$6,870,000.00	\$59.00	\$8,850,000.00	\$54.00	\$8,100,000.00	\$210.00	\$31,500,000.00
401.0100	HMA Pavement, Mix No. V Leveling	50-500	Ton	\$244.00	\$122,000.00	\$145.00	\$72,500.00	\$394.00	\$197,000.00	\$350.00	\$175,000.00	\$781.00	\$390,500.00	\$250.00	\$125,000.00
401.0100	HMA Pavement, Mix No. V Leveling	501-5,000	Ton	\$170.00	\$850,000.00	\$110.00	\$550,000.00	\$394.00	\$1,970,000.00	\$350.00	\$1,750,000.00	\$293.00	\$1,465,000.00	\$225.00	\$1,125,000.00
401.0420	2 Inch HMA Pavement, Mix No. IV	5,000-50,000	SY	\$19.90	\$995,000.00	\$15.90	\$795,000.00	\$29.50	\$1,475,000.00	\$30.00	\$1,500,000.00	\$27.00	\$1,350,000.00	\$30.00	\$1,500,000.00
401.0420	2 Inch HMA Pavement, Mix No. IV	50,001-100,000	SY	\$18.40	\$1,840,000.00	\$15.40	\$1,540,000.00	\$27.30	\$2,730,000.00	\$29.00	\$2,900,000.00	\$27.00	\$2,700,000.00	\$28.00	\$2,800,000.00
401.0420	2 Inch HMA Pavement, Mix No. IV	100,001-150,000	SY	\$17.20	\$2,580,000.00	\$14.50	\$2,175,000.00	\$26.20	\$3,930,000.00	\$29.00	\$4,350,000.00	\$27.00	\$4,050,000.00	\$25.00	\$3,750,000.00
401.0510	3 Inch HMA Pavement, Mix No. IV	5,000-50,000	SY	\$28.40	\$1,420,000.00	\$23.00	\$1,150,000.00	\$38.90	\$1,945,000.00	\$43.00	\$2,150,000.00	\$41.00	\$2,050,000.00	\$40.00	\$2,000,000.00
		i.	<u> </u>				<u></u>		<u> </u>		<u> </u>	-		Sheet No. 1 of 4 She	

PROJECT:	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations														
PROJECT NO.:	STP-0300(184)	†													
ISLAND:	Oahu - Area 2			GRACE P.	ACIFIC LLC		AWE CTION, LLC		BUILDERS ORP	JAS. W. G	LOVER, LTD.		& HIGHWAY LDERS	DEPART	OF HAWAII TMENT OF PORTATION
TYPE CODE:	21					CONSTRU	OTION, ELC	, C	ON			BOI	LDEIXO	그는 일반에 가장 말이 그 말이 되었다.	YS DIVISION
DATE ADVERTISED: BID OPENED:	January 21, 2022 February 24, 2022														
COMPLETION TIME:	Twelve (12) Months														
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
401.0510	3 Inch HMA Pavement, Mix No. IV	50,001-100,000	SY	\$26.90	\$2,690,000.00	\$22.50	\$2,250,000.00	\$36.90	\$3,690,000.00	\$42.00	\$4,200,000.00	\$41.00	\$4,100,000.00	\$38.00	\$3,800,000.0
401.0510	3 Inch HMA Pavement, Mix No. IV	100,001-150,000	SY	\$25.50	\$3,825,000.00	\$21.20	\$3,180,000.00	\$35.40	\$5,310,000.00	\$42.00	\$6,300,000.00	\$41.00	\$6,150,000.00	\$35.00	\$5,250,000.0
401.0700	2 Inch PMA Pavement, Mix No. IV	5,000-50,000	SY	\$23.10	\$1,155,000.00	\$21.70	\$1,085,000.00	\$39.00	\$1,950,000.00	\$33.00	\$1,650,000.00	\$29.00	\$1,450,000.00	\$40.00	\$2,000,000.0
401.0700	2 Inch PMA Pavement, Mix No. IV	50,001-100,000	SY	\$21.30	\$2,130,000.00	\$21.20	\$2,120,000.00	\$37.00	\$3,700,000.00	\$32.00	\$3,200,000.00	\$29.00	\$2,900,000.00	\$38.00	\$3,800,000.0
401.0700	2 Inch PMA Pavement, Mix No. IV	100,001-150,000	SY	\$19.85	\$2,977,500.00	\$20.00	\$3,000,000.00	\$35.00	\$5,250,000.00	\$32.00	\$4,800,000.00	\$29.00	\$4,350,000.00	\$35.00	\$5,250,000.0
401.0710	3 Inch PMA Pavement, Mix No. IV	5,000-50,000	SY	\$32.40	\$1,620,000.00	\$31.80	\$1,590,000.00	\$53.00	\$2,650,000.00	\$47.50	\$2,375,000.00	\$44.00	\$2,200,000.00	\$50.00	\$2,500,000.0
401.0710	3 Inch PMA Pavement, Mix No. IV	50,001-100,000	SY	\$31.00	\$3,100,000.00	\$31.20	\$3,120,000.00	\$51.00	\$5,100,000.00	\$46.50	\$4,650,000.00	\$44.00	\$4,400,000.00	\$48.00	\$4,800,000.0
401.0710	3 Inch PMA Pavement, Mix No. IV	100,001-150,000	SY	\$29.60	\$4,440,000.00	\$29.50	\$4,425,000.00	\$49.00	\$7,350,000.00	\$46.50	\$6,975,000.00	\$44.00	\$6,600,000.00	\$45.00	\$6,750,000.0
401.0720	Third-Party Profile Testing and Equipment	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.0
401.0730	Third-Party Dispute Resolution Profile Testing	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.0
401.0740	Pavement Smoothness Incentive	Allow.	Allow.	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.0
401.0800	Overtime Labor Premium	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.0
404.0100	Slurry Seal	5,000-50,000	SY	\$9.50	\$475,000.00	\$8.50	\$425,000.00	\$12.00	\$600,000.00	\$9.00	\$450,000.00	\$11.78	\$589,000.00	\$15.00	\$750,000.0
404.0100	Slurry Seal	50,001-100,000	SY	\$8.70	\$870,000.00	\$7.75	\$775,000.00	\$11.00	\$1,100,000.00	\$8.00	\$800,000.00	\$10.77	\$1,077,000.00	\$12.00	\$1,200,000.0
404.0100	Slurry Seal	100,001-150,000	SY	\$8.00	\$1,200,000.00	\$7.10	\$1,065,000.00	\$10.00	\$1,500,000.00	\$7.50	\$1,125,000.00	\$9.89	\$1,483,500.00	\$10.00	\$1,500,000.0
406.0420	2 Inch SMA Pavement	5,000-50,000	SY	\$27.20	\$1,360,000.00	\$23.10	\$1,155,000.00	\$38.60	\$1,930,000.00	\$35.00	\$1,750,000.00	\$40.00	\$2,000,000.00	\$50.00	\$2,500,000.0
406.0420	2 Inch SMA Pavement	50,001-100,000	SY	\$25.40	\$2,540,000.00	\$22.60	\$2,260,000.00	\$36.60	\$3,660,000.00	\$34.00	\$3,400,000.00	\$40.00	\$4,000,000.00	\$48.00	\$4,800,000.0
406.0420	2 Inch SMA Pavement	100,001-150,000	SY	\$24.20	\$3,630,000.00	\$21.40	\$3,210,000.00	\$35.70	\$5,355,000.00	\$34.00	\$5,100,000.00	\$40.00	\$6,000,000.00	\$45.00	\$6,750,000.0
					(0)			ļ	*			5.		Sheet No. 2 of 4 She	anta

	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations														
	STP-0300(184)														
ISLAND:	Oahu - Area 2			GRACE P	ACIFIC LLC		AWE CTION, LLC		BUILDERS ORP	JAS. W. G	LOVER, LTD.		& HIGHWAY	DEPAR*	OF HAWAII RTMENT OF PORTATION
TYPE CODE:	21					OONOTRO	OTION, LLO		O'N			Вог	LDLING	다. 기가 맛있게 없었다면서 맛있다.	YS DIVISION
DATE ADVERTISED: BID OPENED:	January 21, 2022 February 24, 2022														
COMPLETION TIME:	Twelve (12) Months			·	,			i <del>i</del>	(	Í					ř
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
406.0510	3 Inch SMA Pavement	5,000-50,000	SY	\$39.00	\$1,950,000.00	\$33.90	\$1,695,000.00	\$53.20	\$2,660,000.00	\$50.00	\$2,500,000.00	\$61.00	\$3,050,000.00	\$70.00	\$3,500,000.0
406.0510	3 Inch SMA Pavement	50,001-100,000	SY	\$37.40	\$3,740,000.00	\$33.30	\$3,330,000.00	\$51.60	\$5,160,000.00	\$49.00	\$4,900,000.00	\$61.00	\$6,100,000.00	\$65.00	\$6,500,000.0
406.0510	3 Inch SMA Pavement	100,001-150,000	SY	\$36.90	\$5,535,000.00	\$31.50	\$4,725,000.00	\$50.40	\$7,560,000.00	\$49.00	\$7,350,000.00	\$61.00	\$9,150,000.00	\$60.00	\$9,000,000.0
406.0720	Third-Party Profile Testing and Equipment	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.0
406.0730	Third-Party Dispute Resolution Profile Testing	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.0
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	5,000-50,000	SY	\$7.60	\$380,000.00	\$6.05	\$302,500.00	\$14.30	\$715,000.00	\$12.00	\$600,000.00	\$13.00	\$650,000.00	\$50.00	\$2,500,000.0
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	50,001-100,000	SY	\$7.05	\$705,000.00	\$5.55	\$555,000.00	\$12.40	\$1,240,000.00	\$11.50	\$1,150,000.00	\$13.00	\$1,300,000.00	\$45.00	\$4,500,000.0
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	100,001-150,000	SY	\$6.00	\$900,000.00	\$5.20	\$780,000.00	\$11.00	\$1,650,000.00	\$11.50	\$1,725,000.00	\$13.00	\$1,950,000.00	\$40.00	\$6,000,000.0
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	5,000-50,000	SY	\$9.75	\$487,500.00	\$7.65	\$382,500.00	\$16.00	\$800,000.00	\$16.00	\$800,000.00	\$18.00	\$900,000.00	\$70.00	\$3,500,000.0
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	50,001-100,000	SY	\$8.75	\$875,000.00	\$6.95	\$695,000.00	\$14.20	\$1,420,000.00	\$15.00	\$1,500,000.00	\$18.00	\$1,800,000.00	\$65.00	\$6,500,000.0
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	100,001-150,000	SY	\$8.00	\$1,200,000.00	\$6.20	\$930,000.00	\$13.00	\$1,950,000.00	\$15.00	\$2,250,000.00	\$18.00	\$2,700,000.00	\$60.00	\$9,000,000.0
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	5,000-50,000	SY	\$11.65	\$582,500.00	\$9.10	\$455,000.00	\$17.70	\$885,000.00	\$19.00	\$950,000.00	\$22.00	\$1,100,000.00	\$85.00	\$4,250,000.0
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	50,001-100,000	SY	\$10.70	\$1,070,000.00	\$8.25	\$825,000.00	\$15.90	\$1,590,000.00	\$18.00	\$1,800,000.00	\$22.00	\$2,200,000.00	\$80.00	\$8,000,000.0
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	100,001-150,000	SY	\$9.75	\$1,462,500.00	\$7.60	\$1,140,000.00	\$14.70	\$2,205,000.00	\$18.00	\$2,700,000.00	\$22.00	\$3,300,000.00	\$75.00	\$11,250,000.0
415.0100	2 Inch Cold Planing	5,000-50,000	SY	\$6.75	\$337,500.00	\$3.60	\$180,000.00	\$11.80	\$590,000.00	\$11.50	\$575,000.00	\$8.00	\$400,000.00	\$14.00	\$700,000.0
415.0100	2 Inch Cold Planing	50,001-100,000	SY	\$5.75	\$575,000.00	\$3.15	\$315,000.00	\$9.70	\$970,000.00	\$10.50	\$1,050,000.00	\$8.00	\$800,000.00	\$12.00	\$1,200,000.0
415.0100	2 Inch Cold Planing	100,001-150,000	SY	\$4.75	\$712,500.00	\$2.85	\$427,500.00	\$8.50	\$1,275,000.00	\$10.00	\$1,500,000.00	\$8.00	\$1,200,000.00	\$10.00	\$1,500,000.0
415.0200	3 Inch Cold Planing	5,000-50,000	SY	\$8.65	\$432,500.00	\$4.90	\$245,000.00	\$12.80	\$640,000.00	\$15.00	\$750,000.00	\$12.00	\$600,000.00	\$17.00	\$850,000.0
		<u>l</u>	-			-							3	Sheet No. 3 of 4 She	neets

PROJECT NO.: S	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations STP-0300(184)														
	Oahu - Area 2			GRACE P	ACIFIC LLC		AWE CTION, LLC		BUILDERS CORP	JAS.W.G	SLOVER, LTD.		& HIGHWAY LDERS	DEPAR TRANSF	OF HAWAII TMENT OF PORTATION
TYPE CODE: 2	21													HIGHWA	YS DIVISION
DATE ADVERTISED: J BID OPENED: F	January 21, 2022 February 24, 2022														
COMPLETION TIME: T	Twelve (12) Months				;				T.						
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
415.0200 3	3 Inch Cold Planing	50,001-100,000	SY	\$7.70	\$770,000.00	\$4.30	\$430,000.00	\$10.80	\$1,080,000.00	\$14.00	\$1,400,000.00	\$12.00	\$1,200,000.00	\$15.00	\$1,500,000.00
415.0200 3	3 Inch Cold Planing	100,001-150,000	SY	\$6.90	\$1,035,000.00	\$3.95	\$592,500.00	\$9.50	\$1,425,000.00	\$13.50	\$2,025,000.00	\$12.00	\$1,800,000.00	\$13.00	\$1,950,000.00
416.0150 S	Scarify Existing Pavement	5,000-50,000	SY	\$2.40	\$120,000.00	\$1.80	\$90,000.00	\$10.70	\$535,000.00	\$4.50	\$225,000.00	\$6.00	\$300,000.00	\$10.00	\$500,000.00
416.0150 S	Scarify Existing Pavement	50,001-100,000	SY	\$2.05	\$205,000.00	\$1.70	\$170,000.00	\$8.60	\$860,000.00	\$4.00	\$400,000.00	\$6.00	\$600,000.00	\$10.00	\$1,000,000.00
416.0150 S	Scarify Existing Pavement	100,001-150,000	SY	\$1.70	\$255,000.00	\$1.65	\$247,500.00	\$7.40	\$1,110,000.00	\$4.00	\$600,000.00	\$6.00	\$900,000.00	\$10.00	\$1,500,000.00
417.1000 C	Cut Cores to Determine Existing Pavement Condition	1-50	Each	\$250.00	\$12,500.00	\$500.00	\$25,000.00	\$500.00	\$25,000.00	\$250.00	\$12,500.00	\$2,000.00	\$100,000.00	\$2,500.00	\$125,000.00
604.0100 A	Adjusting Manhole Cast Iron Frame and Cover	1-100	Each	\$5,000.00	\$500,000.00	\$3,410.00	\$341,000.00	\$3,200.00	\$320,000.00	\$2,500.00	\$250,000.00	\$5,000.00	\$500,000.00	\$2,500.00	\$250,000.00
623.0100 L	Loop Detector Sensing Unit (6 Ft x 6 Ft)	1-100	Each	\$2,500.00	\$250,000.00	\$1,120.00	\$112,000.00	\$1,300.00	\$130,000.00	\$1,700.00	\$170,000.00	\$1,600.00	\$160,000.00	\$3,000.00	\$300,000.00
623.0100 L	Loop Detector Sensing Unit (6 Ft Diameter)	1-100	Each	\$2,500.00	\$250,000.00	\$1,020.00	\$102,000.00	\$1,200.00	\$120,000.00	\$1,600.00	\$160,000.00	\$1,500.00	\$150,000.00	\$3,000.00	\$300,000.00
623.0300 A	Approach-Only Microwave Vehicle Detector	1-50	Each	\$5,000.00	\$250,000.00	\$4,580.00	\$229,000.00	\$2,700.00	\$135,000.00	\$3,250.00	\$162,500.00	\$4,055.54	\$202,777.00	\$5,000.00	\$250,000.00
627.0100 V	Vehicular Counting and Classification System Sensor Replacement	F.A.	F.A.	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00
645.0100 T	Traffic Control (Shoulder Closure, per day)	10-200	Each	\$1,975.00	\$395,000.00	\$17,800.00	\$3,560,000.00	\$1,300.00	\$260,000.00	\$8,200.00	\$1,640,000.00	\$5,500.00	\$1,100,000.00	\$2,000.00	\$400,000.00
645.0200 T	Traffic Control (Flagging Operation, per day)	10-200	Each	\$4,250.00	\$850,000.00	\$17,800.00	\$3,560,000.00	\$2,300.00	\$460,000.00	\$9,600.00	\$1,920,000.00	\$10,000.00	\$2,000,000.00	\$3,000.00	\$600,000.00
645.0300 T	Traffic Control (Single-Lane Closure, per day)	10-200	Each	\$3,450.00	\$690,000.00	\$17,800.00	\$3,560,000.00	\$2,300.00	\$460,000.00	\$8,700.00	\$1,740,000.00	\$8,700.00	\$1,740,000.00	\$3,500.00	\$700,000.00
645.1000 E	Electronic Message Board (per day)	10-400	Each	\$2,600.00	\$1,040,000.00	\$500.00	\$200,000.00	\$300.00	\$120,000.00	\$250.00	\$100,000.00	\$250.00	\$100,000.00	\$2,500.00	\$1,000,000.00
s	Sum of All Items - Area 2				\$91,499,500.00		\$92,869,000.00		\$135,097,000.00		\$145,975,000.00		\$146,777,777.00		\$304,295,000.00
L	certify that this is a true and correct tabulation of bids for this project.	1ar 11 2022													
	Holly Guen Holly Yuen, Project Manager	far 11, 2022 Date							* Bid Rejected - Ins	ufficient Bid Bon	d '	** Bid Rejected -	- Insufficient SBE Go	oal	

-	TABOLATION OF BIBO	Č.		20			2			42. 102		41		<del>[</del>	
	Asphalt Pavement Preservation, Resurfacing and Reconstruction at  Various Locations  STP-0300(184)	-):													
ISLAND:	: Oahu - Area 3				.AWE ICTION, LLC	GRACE P	ACIFIC LLC		BUILDERS	JAS. W. G	LOVER, LTD.	** ROAD & BUIL	HIGHWAY DERS	DEPART	OF HAWAII TMENT OF PORTATION
TYPE CODE:	: 21				300 m									HIGHWAY	YS DIVISION
DATE ADVERTISED: BID OPENED:	: January 21, 2022 : February 24, 2022														
COMPLETION TIME:	: Twelve (12) Months		<u>-</u>			-r				÷		=			
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	F.A.	F.A.	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00
301.0100	3 Inch HMA Base Course	5,000-50,000	SY	\$22.90	\$1,145,000.00	\$24.05	\$1,202,500.00	\$33.90	\$1,695,000.00	\$38.00	\$1,900,000.00	\$34.00	\$1,700,000.00	\$130.00	\$6,500,000.00
301.0100	3 Inch HMA Base Course	50,001-100,000	SY	\$22.50	\$2,250,000.00	\$23.44	\$2,344,000.00	\$32.20	\$3,220,000.00	\$37.00	\$3,700,000.00	\$34.00	\$3,400,000.00	\$125.00	\$12,500,000.00
301.0100	3 Inch HMA Base Course	100,001-150,000	SY	\$21.50	\$3,225,000.00	\$22.48	\$3,372,000.00	\$31.00	\$4,650,000.00	\$37.00	\$5,550,000.00	\$34.00	\$5,100,000.00	\$120.00	\$18,000,000.00
301.0200	4 Inch HMA Base Course	5,000-50,000	SY	\$30.00	\$1,500,000.00	\$31.35	\$1,567,500.00	\$42.30	\$2,115,000.00	\$50.00	\$2,500,000.00	\$45.00	\$2,250,000.00	\$175.00	\$8,750,000.00
301.0200	4 Inch HMA Base Course	50,001-100,000	SY	\$29.40	\$2,940,000.00	\$30.70	\$3,070,000.00	\$40.70	\$4,070,000.00	\$49.00	\$4,900,000.00	\$45.00	\$4,500,000.00	\$170.00	\$17,000,000.00
301.0200	4 Inch HMA Base Course	100,001-150,000	SY	\$28.30	\$4,245,000.00	\$29.60	\$4,440,000.00	\$39.90	\$5,985,000.00	\$49.00	\$7,350,000.00	\$45.00	\$6,750,000.00	\$165.00	\$24,750,000.00
301.0300	5 Inch HMA Base Course	5,000-50,000	SY	\$36.80	\$1,840,000.00	\$38.90	\$1,945,000.00	\$50.70	\$2,535,000.00	\$62.00	\$3,100,000.00	\$56.00	\$2,800,000.00	\$220.00	\$11,000,000.00
301.0300	5 Inch HMA Base Course	50,001-100,000	SY	\$35.20	\$3,520,000.00	\$38.09	\$3,809,000.00	\$49.20	\$4,920,000.00	\$61.00	\$6,100,000.00	\$56.00	\$5,600,000.00	\$215.00	\$21,500,000.00
301.0300	5 Inch HMA Base Course	100,001-150,000	SY	\$34.00	\$5,100,000.00	\$36.68	\$5,502,000.00	\$48.30	\$7,245,000.00	\$61.00	\$9,150,000.00	\$56.00	\$8,400,000.00	\$210.00	\$31,500,000.00
401.0100	HMA Pavement, Mix No. V Leveling	50-500	Ton	\$143.50	\$71,750.00	\$256.00	\$128,000.00	\$402.00	\$201,000.00	\$350.00	\$175,000.00	\$812.00	\$406,000.00	\$250.00	\$125,000.00
401.0100	HMA Pavement, Mix No. V Leveling	501-5,000	Ton	\$109.00	\$545,000.00	\$187.00	\$935,000.00	\$402.00	\$2,010,000.00	\$350.00	\$1,750,000.00	\$301.00	\$1,505,000.00	\$225.00	\$1,125,000.00
401.0420	2 Inch HMA Pavement, Mix No. IV	5,000-50,000	SY	\$15.70	\$785,000.00	\$21.86	\$1,093,000.00	\$30.60	\$1,530,000.00	\$30.00	\$1,500,000.00	\$28.00	\$1,400,000.00	\$30.00	\$1,500,000.00
401.0420	2 Inch HMA Pavement, Mix No. IV	50,001-100,000	SY	\$15.30	\$1,530,000.00	\$20.45	\$2,045,000.00	\$28.20	\$2,820,000.00	\$29.00	\$2,900,000.00	\$28.00	\$2,800,000.00	\$28.00	\$2,800,000.00
401.0420	2 Inch HMA Pavement, Mix No. IV	100,001-150,000	SY	\$14.30	\$2,145,000.00	\$19.00	\$2,850,000.00	\$27.10	\$4,065,000.00	\$29.00	\$4,350,000.00	\$28.00	\$4,200,000.00	\$25.00	\$3,750,000.00
401.0510	3 Inch HMA Pavement, Mix No. IV	5,000-50,000	SY	\$22.80	\$1,140,000.00	\$30.84	\$1,542,000.00	\$40.50	\$2,025,000.00	\$43.00	\$2,150,000.00	\$42.00	\$2,100,000.00	\$40.00	\$2,000,000.00
li-	4			<u>.</u>	4	- 4		13		4				Sheet No. 1 of 4 Sh	<u> </u>

	TABOLATION OF BIDO	<u> </u>										4-			
PROJECT:	Asphalt Pavement Preservation, Resurfacing and Reconstruction at														
PROJECT NO.:	Various Locations STP-0300(184)	9													
															OF HAWAII
ISLAND:	Oahu - Area 3			1.00000000	AWE CTION, LLC	GRACE P	ACIFIC LLC		BUILDERS ORP	JAS. W. GI	LOVER, LTD.		LHIGHWAY DERS		MENT OF ORTATION
TYPE CODE:	2′				902									HIGHWAY	'S DIVISION
DATE ADVERTISED: BID OPENED:	January 21, 2022 February 24, 2022														
COMPLETION TIME:															
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
401.0510	3 Inch HMA Pavement, Mix No. IV	50,001-100,000	SY	\$22.30	\$2,230,000.00	\$29.63	\$2,963,000.00	\$38.30	\$3,830,000.00		\$4,200,000.00	1	\$4,200,000.00		\$3,800,000.00
COMMUNICATION TRANSPORTED PARTS		500 A C 400 A C	HESPORES	150.000,000,000,000,000	SCHOOL STATE OF THE STATE OF TH	ACT BUSINESS AND ACCOMPANIES		2012 Staget House Of No. 10 Th. Stafe		77.3346- 00 C C V 00 L 00 C V	1800 U.S. \$ \$40.00000000000000000000000000000000	20 Mary 10 10 10 10 10 10 10 10 10 10 10 10 10		30.000,000,000,000,000,000	
401.0510	3 Inch HMA Pavement, Mix No. IV	100,001-150,000	10000000	\$21.00	\$3,150,000.00	\$28.28	\$4,242,000.00	\$36.90	\$5,535,000.00	\$42.00	\$6,300,000.00	\$42.00	\$6,300,000.00	\$35.00	\$5,250,000.00
401.0700	2 Inch PMA Pavement, Mix No. IV	5,000-50,000	SY	\$21.50	\$1,075,000.00	\$24.90	\$1,245,000.00	\$40.00	\$2,000,000.00	\$33.00	\$1,650,000.00	Het \$5007 (Full Het room	\$1,500,000.00	HERRING BURG BEOSPIT	\$2,000,000.00
401.0700	2 Inch PMA Pavement, Mix No. IV	50,001-100,000	SY	\$21.00	\$2,100,000.00	\$23.50	\$2,350,000.00	\$37.00	\$3,700,000.00	\$32.00	\$3,200,000.00	Fectober (SUS ecroun	\$3,000,000.00	115 200 17 HAR HEOSHY	\$3,800,000.00
401.0700	2 Inch PMA Pavement, Mix No. IV	100,001-150,000	SY	\$19.80	\$2,970,000.00	\$22.50	\$3,375,000.00	\$36.00	\$5,400,000.00	\$32.00	\$4,800,000.00	\$30.00	\$4,500,000.00	\$35.00	\$5,250,000.00
401.0710	3 Inch PMA Pavement, Mix No. IV	5,000-50,000	SY	\$31.50	\$1,575,000.00	\$35.40	\$1,770,000.00	\$54.00	\$2,700,000.00	\$48.00	\$2,400,000.00	\$45.00	\$2,250,000.00	\$50.00	\$2,500,000.00
401.0710	3 Inch PMA Pavement, Mix No. IV	50,001-100,000	SY	\$30.90	\$3,090,000.00	\$34.10	\$3,410,000.00	\$52.00	\$5,200,000.00	\$47.00	\$4,700,000.00	\$45.00	\$4,500,000.00	\$48.00	\$4,800,000.00
401.0710	3 Inch PMA Pavement, Mix No. IV	100,001-150,000	SY	\$29.20	\$4,380,000.00	\$32.60	\$4,890,000.00	\$51.00	\$7,650,000.00	\$47.00	\$7,050,000.00	\$45.00	\$6,750,000.00	\$45.00	\$6,750,000.00
401.0720	Third-Party Profile Testing and Equipment	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
401.0730	Third-Party Dispute Resolution Profile Testing	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
401.0740	Pavement Smoothness Incentive	Allow.	Allow.	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00
401.0800	Overtime Labor Premium	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
404.0100	Slurry Seal	5,000-50,000	SY	\$9.00	\$450,000.00	\$10.00	\$500,000.00	\$12.00	\$600,000.00	\$10.00	\$500,000.00	\$12.45	\$622,500.00	\$15.00	\$750,000.00
404.0100	Slurry Seal	50,001-100,000	SY	\$8.25	\$825,000.00	\$9.20	\$920,000.00	\$11.00	\$1,100,000.00	\$9.00	\$900,000.00	\$11.44	\$1,144,000.00	\$12.00	\$1,200,000.00
404.0100	Slurry Seal	100,001-150,000	SY	\$7.50	\$1,125,000.00	\$8.25	\$1,237,500.00	\$10.00	\$1,500,000.00	\$8.50	\$1,275,000.00	\$10.43	\$1,564,500.00	\$10.00	\$1,500,000.00
406.0420	2 Inch SMA Pavement	5,000-50,000	SY	\$22.90	\$1,145,000.00	\$29.10	\$1,455,000.00	\$39.40	\$1,970,000.00	\$35.00	\$1,750,000.00	\$41.00	\$2,050,000.00	\$50.00	\$2,500,000.00
406.0420	2 Inch SMA Pavement	50,001-100,000	SY	\$22.40	\$2,240,000.00	\$27.25	\$2,725,000.00	\$37.40	\$3,740,000.00	\$34.00	\$3,400,000.00	\$41.00	\$4,100,000.00	\$48.00	\$4,800,000.00
406.0420	2 Inch SMA Pavement	100,001-150,000	SY	\$21.20	\$3,180,000.00	\$26.00	\$3,900,000.00	\$36.50	\$5,475,000.00	\$34.00	\$5,100,000.00	\$41.00	\$6,150,000.00	\$45.00	\$6,750,000.00
		D) 33		. 19 	26 M M	W.	.00 MA MO	36	30 W W	207	50 15 M	38	90 107 133	Sheet No. 2 of 4 She	00 N

	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations STP-0300(184)	ii.													
	Oahu - Area 3				AWE ICTION, LLC	GRACE F	PACIFIC LLC		BUILDERS ORP	JAS. W. GL	OVER, LTD.		& HIGHWAY LDERS	DEPAR TRANSF	OF HAWAII TMENT OF PORTATION
TYPE CODE:	2′				~									HIGHWA	YS DIVISION
DATE ADVERTISED:	January 21, 2022 February 24, 2022														
COMPLETION TIME:															
		APPROX.			12 (12 (12 (12 (12 (12 (12 (12 (12 (12 (	Vice at least of the last and a second					510000000000000000000000000000000000000				
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
406.0510	3 Inch SMA Pavement	5,000-50,000	SY	\$33.60	\$1,680,000.00	\$41.25	\$2,062,500.00	\$54.50	\$2,725,000.00	\$51.00	\$2,550,000.00	\$62.00	\$3,100,000.00	\$70.00	\$3,500,000.00
406.0510	3 Inch SMA Pavement	50,001-100,000	SY	\$33.00	\$3,300,000.00	\$40.10	\$4,010,000.00	\$52.80	\$5,280,000.00	\$50.00	\$5,000,000.00	\$62.00	\$6,200,000.00	\$65.00	\$6,500,000.00
406.0510	3 Inch SMA Pavement	100,001-150,000	SY	\$31.20	\$4,680,000.00	\$39.50	\$5,925,000.00	\$51.60	\$7,740,000.00	\$50.00	\$7,500,000.00	\$62.00	\$9,300,000.00	\$60.00	\$9,000,000.00
406.0720	Third-Party Profile Testing and Equipment	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
406.0730	Third-Party Dispute Resolution Profile Testing	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	5,000-50,000	SY	\$6.00	\$300,000.00	\$8.50	\$425,000.00	\$15.90	\$795,000.00	\$13.00	\$650,000.00	\$15.00	\$750,000.00	\$50.00	\$2,500,000.00
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	50,001-100,000	SY	\$5.50	\$550,000.00	\$8.00	\$800,000.00	\$13.80	\$1,380,000.00	\$12.00	\$1,200,000.00	\$15.00	\$1,500,000.00	\$45.00	\$4,500,000.00
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	100,001-150,000	SY	\$5.15	\$772,500.00	\$6.90	\$1,035,000.00	\$12.50	\$1,875,000.00	\$12.00	\$1,800,000.00	\$15.00	\$2,250,000.00	\$40.00	\$6,000,000.00
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	5,000-50,000	SY	\$7.60	\$380,000.00	\$11.00	\$550,000.00	\$17.90	\$895,000.00	\$17.00	\$850,000.00	\$19.00	\$950,000.00	\$70.00	\$3,500,000.00
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	50,001-100,000	SY	\$6.90	\$690,000.00	\$9.75	\$975,000.00	\$16.10	\$1,610,000.00	\$16.00	\$1,600,000.00	\$19.00	\$1,900,000.00	\$65.00	\$6,500,000.00
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	100,001-150,000	SY	\$6.15	\$922,500.00	\$9.10	\$1,365,000.00	\$15.00	\$2,250,000.00	\$16.00	\$2,400,000.00	\$19.00	\$2,850,000.00	\$60.00	\$9,000,000.00
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	5,000-50,000	SY	\$9.05	\$452,500.00	\$13.10	\$655,000.00	\$20.10	\$1,005,000.00	\$21.00	\$1,050,000.00	\$24.00	\$1,200,000.00	\$85.00	\$4,250,000.00
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	50,001-100,000	SY	\$8.15	\$815,000.00	\$12.40	\$1,240,000.00	\$18.40	\$1,840,000.00	\$20.00	\$2,000,000.00	\$24.00	\$2,400,000.00	\$80.00	\$8,000,000.00
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	100,001-150,000	SY	\$7.55	\$1,132,500.00	\$11.10	\$1,665,000.00	\$17.20	\$2,580,000.00	\$20.00	\$3,000,000.00	\$24.00	\$3,600,000.00	\$75.00	\$11,250,000.00
415.0100	2 Inch Cold Planing	5,000-50,000	SY	\$3.60	\$180,000.00	\$7.25	\$362,500.00	\$12.70	\$635,000.00	\$11.00	\$550,000.00	\$10.00	\$500,000.00	\$14.00	\$700,000.00
415.0100	2 Inch Cold Planing	50,001-100,000	SY	\$3.10	\$310,000.00	\$6.20	\$620,000.00	\$10.70	\$1,070,000.00	\$10.50	\$1,050,000.00	\$10.00	\$1,000,000.00	\$12.00	\$1,200,000.00
415.0100	2 Inch Cold Planing	100,001-150,000	SY	\$2.80	\$420,000.00	\$5.15	\$772,500.00	\$9.60	\$1,440,000.00	\$10.00	\$1,500,000.00	\$10.00	\$1,500,000.00	\$10.00	\$1,500,000.00
415.0200	3 Inch Cold Planing	5,000-50,000	SY	\$4.85	\$242,500.00	\$9.75	\$487,500.00	\$14.40	\$720,000.00	\$15.50	\$775,000.00	\$15.00	\$750,000.00	\$17.00	\$850,000.00

	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations  STP-0300(184)														
ISLAND TYPE CODE	Oahu - Area 3				AWE ICTION, LLC	GRACE	PACIFIC LLC		BUILDERS	JAS. W. G	SLOVER, LTD.		& HIGHWAY ILDERS	DEPAR TRANSI	OF HAWAII TMENT OF PORTATION YS DIVISION
DATE ADVERTISED	755 - 1575-150 (1575-150-150-150-150-150-150-150-150-150-15														
COMPLETION TIME	Twelve (12) Months														
		APPROX.	LINUTLICED	LINIT DDIGE	ANACHINIT	LINET DDIOE	ANACUINIT	LINET DDIOE	ANACUNIT	LINUT DOLOE	ANACHINIT	LINUT DDICE	ANACHINIT	LINUT DDIOE	ANACHINIT
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
415.0200	3 Inch Cold Planing	50,001-100,000	SY	\$4.25	\$425,000.00	\$8.70	\$870,000.00	\$12.20	\$1,220,000.00	\$14.50	\$1,450,000.00	\$15.00	\$1,500,000.00	\$15.00	\$1,500,000.00
415.0200	3 Inch Cold Planing	100,001-150,000	SY	\$3.90	\$585,000.00	\$7.70	\$1,155,000.00	\$10.90	\$1,635,000.00	\$14.00	\$2,100,000.00	\$15.00	\$2,250,000.00	\$13.00	\$1,950,000.00
416.0150	Scarify Existing Pavement	5,000-50,000	SY	\$1.80	\$90,000.00	\$2.40	\$120,000.00	\$10.90	\$545,000.00	\$4.50	\$225,000.00	\$6.00	\$300,000.00	\$10.00	\$500,000.00
416.0150	Scarify Existing Pavement	50,001-100,000	SY	\$1.70	\$170,000.00	\$2.05	\$205,000.00	\$8.90	\$890,000.00	\$4.00	\$400,000.00	\$6.00	\$600,000.00	\$10.00	\$1,000,000.00
416.0150	Scarify Existing Pavement	100,001-150,000	SY	\$1.65	\$247,500.00	\$2.00	\$300,000.00	\$7.80	\$1,170,000.00	\$4.00	\$600,000.00	\$6.00	\$900,000.00	\$10.00	\$1,500,000.00
417.1000	Cut Cores to Determine Existing Pavement Condition	1-50	Each	\$500.00	\$25,000.00	\$250.00	\$12,500.00	\$500.00	\$25,000.00	\$300.00	\$15,000.00	\$2,000.00	\$100,000.00	\$2,500.00	\$125,000.00
604.0100	Adjusting Manhole Cast Iron Frame and Cover	1-100	Each	\$3,410.00	\$341,000.00	\$5,000.00	\$500,000.00	\$3,200.00	\$320,000.00	\$2,500.00	\$250,000.00	\$5,000.00	\$500,000.00	\$2,500.00	\$250,000.00
623.0100	Loop Detector Sensing Unit (6 Ft x 6 Ft)	1-100	Each	\$1,120.00	\$112,000.00	\$2,500.00	\$250,000.00	\$1,300.00	\$130,000.00	\$1,500.00	\$150,000.00	\$1,600.00	\$160,000.00	\$3,000.00	\$300,000.00
623.0100	Loop Detector Sensing Unit (6 Ft Diameter)	1-100	Each	\$1,020.00	\$102,000.00	\$2,500.00	\$250,000.00	\$1,200.00	\$120,000.00	\$1,400.00	\$140,000.00	\$1,500.00	\$150,000.00	\$3,000.00	\$300,000.00
623.0300	Approach-Only Microwave Vehicle Detector	1-50	Each	\$4,580.00	\$229,000.00	\$5,000.00	\$250,000.00	\$2,700.00	\$135,000.00	\$3,000.00	\$150,000.00	\$3,892.12	\$194,606.00	\$5,000.00	\$250,000.00
627.0100	Vehicular Counting and Classification System Sensor Replacement	F.A.	F.A.	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00
645.0100	Traffic Control (Shoulder Closure, per day)	10-200	Each	\$17,800.00	\$3,560,000.00	\$1,975.00	\$395,000.00	\$1,300.00	\$260,000.00	\$8,500.00	\$1,700,000.00	\$5,500.00	\$1,100,000.00	\$2,000.00	\$400,000.00
645.0200	Traffic Control (Flagging Operation, per day)	10-200	Each	\$17,800.00	\$3,560,000.00	\$4,250.00	\$850,000.00	\$2,300.00	\$460,000.00	\$10,000.00	\$2,000,000.00	\$10,000.00	\$2,000,000.00	\$3,000.00	\$600,000.00
645.0300	Traffic Control (Single-Lane Closure, per day)	10-200	Each	\$17,800.00	\$3,560,000.00	\$3,450.00	\$690,000.00	\$2,300.00	\$460,000.00	\$9,000.00	\$1,800,000.00	\$8,700.00	\$1,740,000.00	\$3,500.00	\$700,000.00
645.1000	Electronic Message Board (per day)	10-400	Each	\$500.00	\$200,000.00	\$2,950.00	\$1,180,000.00	\$300.00	\$120,000.00	\$250.00	\$100,000.00	\$250.00	\$100,000.00	\$2,500.00	\$1,000,000.00
	Sum of All Items - Area 3				\$92,270,750.00		\$101,525,000.00		\$141,536,000.00		\$149,575,000.00		\$153,606,606.00		\$304,295,000.00
	certify that this is a true and correct tabulation of bids for this project.														
		/lar 11, 2022							* Bid Rejected - In	sufficient Bid Bo	nd	** Bid Rejected	- Insufficient SBE Go	al	
	Holly Yuen, Project Manager	Date							45					Sheet No. 4 of 4 S	

PROJECT NO.:  ISLAND:  TYPE CODE:  DATE ADVERTISED:	January 21, 2022 February 24, 2022			HI'ILAWE CONSTRUCTION, LLC		GRACE PACIFIC LLC		* ROAD BUILDERS CORP		JAS. W. GLOVER, LTD.		** ROAD & HIGHWAY BUILDERS		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	F.A.	F.A.	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	Mark and	\$500,000.00
301.0100	3 Inch HMA Base Course	5,000-50,000	SY	\$22.30	\$1,115,000.00	\$22.95	\$1,147,500.00	\$33.10	\$1,655,000.00	\$37.00	\$1,850,000.00	\$34.00	\$1,700,000.00	\$130.00	\$6,500,000.00
301.0100	3 Inch HMA Base Course	50,001-100,000	SY	\$21.80	\$2,180,000.00	\$22.15	\$2,215,000.00	\$31.50	\$3,150,000.00	\$36.00	\$3,600,000.00	\$34.00	\$3,400,000.00	\$125.00	\$12,500,000.00
301.0100	3 Inch HMA Base Course	100,001-150,000	SY	\$20.90	\$3,135,000.00	\$21.30	\$3,195,000.00	\$30.40	\$4,560,000.00	\$36.00	\$5,400,000.00	\$34.00	\$5,100,000.00	\$120.00	\$18,000,000.00
301.0200	4 Inch HMA Base Course	5,000-50,000	SY	\$29.10	\$1,455,000.00	\$29.85	\$1,492,500.00	\$41.30	\$2,065,000.00	\$48.50	\$2,425,000.00	\$45.00	\$2,250,000.00	\$175.00	\$8,750,000.00
301.0200	4 Inch HMA Base Course	50,001-100,000	SY	\$28.50	\$2,850,000.00	\$29.40	\$2,940,000.00	\$39.80	\$3,980,000.00	\$47.50	\$4,750,000.00	\$45.00	\$4,500,000.00	\$170.00	\$17,000,000.00
301.0200	4 Inch HMA Base Course	100,001-150,000	SY	\$27.40	\$4,110,000.00	\$28.10	\$4,215,000.00	\$38.90	\$5,835,000.00	\$47.50	\$7,125,000.00	\$45.00	\$6,750,000.00	\$165.00	\$24,750,000.00
301.0300	5 Inch HMA Base Course	5,000-50,000	SY	\$30.30	\$1,515,000.00	\$37.25	\$1,862,500.00	\$49.50	\$2,475,000.00	\$60.00	\$3,000,000.00	\$56.00	\$2,800,000.00	\$220.00	\$11,000,000.00
301.0300	5 Inch HMA Base Course	50,001-100,000	SY	\$34.10	\$3,410,000.00	\$36.25	\$3,625,000.00	\$48.00	\$4,800,000.00	\$59.00	\$5,900,000.00	\$56.00	\$5,600,000.00	\$215.00	\$21,500,000.00
301.0300	5 Inch HMA Base Course	100,001-150,000	SY	\$33.00	\$4,950,000.00	\$34.85	\$5,227,500.00	\$47.10	\$7,065,000.00	\$59.00	\$8,850,000.00	\$56.00	\$8,400,000.00	\$210.00	\$31,500,000.00
401.0100	HMA Pavement, Mix No. V Leveling	50-500	Ton	\$142.50	\$71,250.00	\$249.00	\$124,500.00	\$398.00	\$199,000.00	\$350.00	\$175,000.00	\$812.00	\$406,000.00	\$250.00	\$125,000.00
401.0100	HMA Pavement, Mix No. V Leveling	501-5,000	Ton	\$108.00	\$540,000.00	\$181.00	\$905,000.00	\$398.00	\$1,990,000.00	\$350.00	\$1,750,000.00	\$301.00	\$1,505,000.00	\$225.00	\$1,125,000.00
401.0420	2 Inch HMA Pavement, Mix No. IV	5,000-50,000	SY	\$15.30	\$765,000.00	\$21.20	\$1,060,000.00	\$30.00	\$1,500,000.00	\$30.00	\$1,500,000.00	\$28.00	\$1,400,000.00	\$30.00	\$1,500,000.00
401.0420	2 Inch HMA Pavement, Mix No. IV	50,001-100,000	SY	\$14.80	\$1,480,000.00	\$19.55	\$1,955,000.00	\$27.70	\$2,770,000.00	\$29.00	\$2,900,000.00	\$28.00	\$2,800,000.00	\$28.00	\$2,800,000.00
401.0420	2 Inch HMA Pavement, Mix No. IV	100,001-150,000	SY	\$13.90	\$2,085,000.00	\$18.35	\$2,752,500.00	\$26.70	\$4,005,000.00	\$29.00	\$4,350,000.00	\$28.00	\$4,200,000.00	\$25.00	\$3,750,000.00
401.0510	3 Inch HMA Pavement, Mix No. IV	5,000-50,000	SY	\$22.20	\$1,110,000.00	\$29.70	\$1,485,000.00	\$39.80	\$1,990,000.00	\$43.00	\$2,150,000.00	\$42.00	\$2,100,000.00	\$40.00	\$2,000,000.00
2					:			•	-	<del>- 14</del>		14		Sheet No. 1 of 4 Sh	neete

PROJECT:	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations														
PROJECT NO.:	STP-0300(184)														
ISLAND:	Oahu - Area 4			HI'I	HI'ILAWE GRACE PACIFIC LLC CONSTRUCTION, LLC		* ROAD BUILDERS CORP		JAS. W. GLOVER, LTD.		** ROAD & HIGHWAY BUILDERS		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION		
TYPE CODE:	21			CONSTRU											
DATE ADVERTISED: BID OPENED:	January 21, 2022 February 24, 2022														
COMPLETION TIME:	Twelve (12) Months														
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
401.0510	3 Inch HMA Pavement, Mix No. IV	50,001-100,000	SY	\$21.60	\$2,160,000.00	\$28.40	\$2,840,000.00	\$37.60	\$3,760,000.00	\$42.00	\$4,200,000.00	\$42.00	\$4,200,000.00	\$38.00	\$3,800,000.00
401.0510	3 Inch HMA Pavement, Mix No. IV	100,001-150,000	SY	\$20.30	\$3,045,000.00	\$27.30	\$4,095,000.00	\$36.10	\$5,415,000.00	\$42.00	\$6,300,000.00	\$42.00	\$6,300,000.00	\$35.00	\$5,250,000.00
401.0700	2 Inch PMA Pavement, Mix No. IV	5,000-50,000	SY	\$21.00	\$1,050,000.00	\$23.95	\$1,197,500.00	\$39.00	\$1,950,000.00	\$33.00	\$1,650,000.00	\$30.00	\$1,500,000.00	\$40.00	\$2,000,000.00
401.0700	2 Inch PMA Pavement, Mix No. IV	50,001-100,000	SY	\$20.50	\$2,050,000.00	\$22.45	\$2,245,000.00	\$37.00	\$3,700,000.00	\$32.00	\$3,200,000.00	\$30.00	\$3,000,000.00	\$38.00	\$3,800,000.00
401.0700	2 Inch PMA Pavement, Mix No. IV	100,001-150,000	SY	\$19.40	\$2,910,000.00	\$21.20	\$3,180,000.00	\$36.00	\$5,400,000.00	\$32.00	\$4,800,000.00	\$30.00	\$4,500,000.00	\$35.00	\$5,250,000.00
401.0710	3 Inch PMA Pavement, Mix No. IV	5,000-50,000	SY	\$30.70	\$1,535,000.00	\$34.10	\$1,705,000.00	\$54.00	\$2,700,000.00	\$47.50	\$2,375,000.00	\$45.00	\$2,250,000.00	\$50.00	\$2,500,000.00
401.0710	3 Inch PMA Pavement, Mix No. IV	50,001-100,000	SY	\$30.20	\$3,020,000.00	\$32.70	\$3,270,000.00	\$52.00	\$5,200,000.00	\$46.50	\$4,650,000.00	\$45.00	\$4,500,000.00	\$48.00	\$4,800,000.00
401.0710	3 Inch PMA Pavement, Mix No. IV	100,001-150,000	SY	\$28.50	\$4,275,000.00	\$31.50	\$4,725,000.00	\$50.00	\$7,500,000.00	\$46.50	\$6,975,000.00	\$45.00	\$6,750,000.00	\$45.00	\$6,750,000.00
401.0720	Third-Party Profile Testing and Equipment	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
401.0730	Third-Party Dispute Resolution Profile Testing	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
401.0740	Pavement Smoothness Incentive	Allow.	Allow.	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00
401.0800	Overtime Labor Premium	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
404.0100	Slurry Seal	5,000-50,000	SY	\$9.25	\$462,500.00	\$10.30	\$515,000.00	\$12.00	\$600,000.00	\$10.00	\$500,000.00	\$10.43	\$521,500.00	\$15.00	\$750,000.00
404.0100	Slurry Seal	50,001-100,000	SY	\$8.50	\$850,000.00	\$9.40	\$940,000.00	\$11.00	\$1,100,000.00	\$9.00	\$900,000.00	\$12.79	\$1,279,000.00	\$12.00	\$1,200,000.00
404.0100	Slurry Seal	100,001-150,000	SY	\$7.75	\$1,162,500.00	\$8.60	\$1,290,000.00	\$10.00	\$1,500,000.00	\$9.00	\$1,350,000.00	\$11.78	\$1,767,000.00	\$10.00	\$1,500,000.00
406.0420	2 Inch SMA Pavement	5,000-50,000	SY	\$22.30	\$1,115,000.00	\$28.00	\$1,400,000.00	\$39.00	\$1,950,000.00	\$35.00	\$1,750,000.00	\$41.00	\$2,050,000.00	\$50.00	\$2,500,000.00
406.0420	2 Inch SMA Pavement	50,001-100,000	SY	\$21.90	\$2,190,000.00	\$26.25	\$2,625,000.00	\$37.00	\$3,700,000.00	\$34.00	\$3,400,000.00	\$41.00	\$4,100,000.00	\$48.00	\$4,800,000.00
406.0420	2 Inch SMA Pavement	100,001-150,000	SY	\$20.70	\$3,105,000.00	\$25.25	\$3,787,500.00	\$36.10	\$5,415,000.00	\$34.00	\$5,100,000.00	\$41.00	\$6,150,000.00	\$45.00	\$6,750,000.00
		2		ļ			2.	***				75		Sheet No. 2 of 4 Sh	neets

PROJECT:	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations STP-0300(184)														
	Oahu - Area 4			HI'ILAWE		GRACE PACIFIC LLC		* ROAD BUILDERS		JAS. W. GLOVER, LTD.		** ROAD & HIGHWAY		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION	
TYPE CODE:	21			CONSTRU	CONSTRUCTION, LLC				CORP			BUILDERS		HIGHWAYS DIVISION	
DATE ADVERTISED: BID OPENED:	January 21, 2022 February 24, 2022														
COMPLETION TIME:	Twelve (12) Months	ADDDOV			-					<u> </u>				<u> </u>	
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
406.0510	3 Inch SMA Pavement	5,000-50,000	SY	\$32.80	\$1,640,000.00	\$40.10	\$2,005,000.00	\$53.90	\$2,695,000.00	\$50.00	\$2,500,000.00	62.00	\$3,100,000.00	\$70.00	\$3,500,000.00
406.0510	3 Inch SMA Pavement	50,001-100,000	SY	\$32.20	\$3,220,000.00	\$38.70	\$3,870,000.00	\$52.20	\$5,220,000.00	\$49.50	\$4,950,000.00	62.00	\$6,200,000.00	\$65.00	\$6,500,000.00
406.0510	3 Inch SMA Pavement	100,001-150,000	SY	\$30.50	\$4,575,000.00	\$38.50	\$5,775,000.00	\$51.00	\$7,650,000.00	\$49.50	\$7,425,000.00	\$62.00	\$9,300,000.00	\$60.00	\$9,000,000.00
406.0720	Third-Party Profile Testing and Equipment	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
406.0730	Third-Party Dispute Resolution Profile Testing	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	5,000-50,000	SY	\$6.45	\$322,500.00	\$8.20	\$410,000.00	\$15.10	\$755,000.00	\$13.00	\$650,000.00	\$15.00	\$750,000.00	\$50.00	\$2,500,000.00
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	50,001-100,000	SY	\$6.00	\$600,000.00	\$7.35	\$735,000.00	\$13.10	\$1,310,000.00	\$12.00	\$1,200,000.00	\$15.00	\$1,500,000.00	\$45.00	\$4,500,000.00
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	100,001-150,000	SY	\$5.60	\$840,000.00	\$6.50	\$975,000.00	\$11.90	\$1,785,000.00	\$12.00	\$1,800,000.00	\$15.00	\$2,250,000.00	\$40.00	\$6,000,000.00
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	5,000-50,000	SY	\$8.20	\$410,000.00	\$10.15	\$507,500.00	\$16.90	\$845,000.00	\$17.00	\$850,000.00	\$20.00	\$1,000,000.00	\$70.00	\$3,500,000.00
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	50,001-100,000	SY	\$7.50	\$750,000.00	\$9.40	\$940,000.00	\$15.10	\$1,510,000.00	\$16.00	\$1,600,000.00	\$20.00	\$2,000,000.00	\$65.00	\$6,500,000.00
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	100,001-150,000	SY	\$6.75	\$1,012,500.00	\$8.25	\$1,237,500.00	\$14.10	\$2,115,000.00	\$16.00	\$2,400,000.00	\$20.00	\$3,000,000.00	\$60.00	\$9,000,000.00
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	5,000-50,000	SY	\$9.80	\$490,000.00	\$12.60	\$630,000.00	\$18.90	\$945,000.00	\$21.00	\$1,050,000.00	\$25.00	\$1,250,000.00	\$85.00	\$4,250,000.00
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	50,001-100,000	SY	\$8.90	\$890,000.00	\$11.60	\$1,160,000.00	\$17.20	\$1,720,000.00	\$20.00	\$2,000,000.00	\$25.00	\$2,500,000.00	\$80.00	\$8,000,000.00
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	100,001-150,000	SY	\$8.30	\$1,245,000.00	\$10.50	\$1,575,000.00	\$16.00	\$2,400,000.00	\$20.00	\$3,000,000.00	\$25.00	\$3,750,000.00	\$75.00	\$11,250,000.00
415.0100	2 Inch Cold Planing	5,000-50,000	SY	\$3.90	\$195,000.00	\$6.95	\$347,500.00	\$12.20	\$610,000.00	\$11.00	\$550,000.00	\$10.00	\$500,000.00	\$14.00	\$700,000.00
415.0100	2 Inch Cold Planing	50,001-100,000	SY	\$3.45	\$345,000.00	\$6.00	\$600,000.00	\$10.20	\$1,020,000.00	\$10.00	\$1,000,000.00	\$10.00	\$1,000,000.00	\$12.00	\$1,200,000.00
415.0100	2 Inch Cold Planing	100,001-150,000	SY	\$3.15	\$472,500.00	\$5.25	\$787,500.00	\$9.10	\$1,365,000.00	\$9.50	\$1,425,000.00	\$10.00	\$1,500,000.00	\$10.00	\$1,500,000.00
415.0200	3 Inch Cold Planing	5,000-50,000	SY	\$5.35	\$267,500.00	\$9.35	\$467,500.00	\$13.70	\$685,000.00	\$15.00	\$750,000.00	\$15.00	\$750,000.00	\$17.00	\$850,000.00
<u> </u>	No.	ā ————————————————————————————————————	3		2 0			520			) <u>.</u>		8	Sheet No. 3 of 4 Sh	neets

	Asphalt Pavement Preservation, Resurfacing and Reconstruction at														
	Various Locations STP-0300(184)														
PROJECT NO	317-0300(104)														
ISLAND:	Oahu - Area 4			Security and the second security and the second	LAWE JCTION, LLC	GRACE PACIFIC LLC * R			* ROAD BUILDERS JA		JAS. W. GLOVER, LTD.		** ROAD & HIGHWAY BUILDERS		OF HAWAII RTMENT OF PORTATION
TYPE CODE:	21			Jonetha	3011011, 223			<b>00/</b> 4				BOILDLING		HIGHWAYS DIVISION	
DATE ADVERTISED: BID OPENED:	January 21, 2022 February 24, 2022														
COMPLETION TIME:	Twelve (12) Months											- 4	eli:		
ITEM NO	ITEM	APPROX.	LIMITHEED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	ANACHINIT	UNIT PRICE	AMOUNT	UNIT PRICE	ANACHINIT	UNIT PRICE	AMOUNT
ITEM NO.	I I EIVI	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNII PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
415.0200	3 Inch Cold Planing	50,001-100,000	SY	\$4.75	\$475,000.00	\$8.40	\$840,000.00	\$11.50	\$1,150,000.00	\$14.00	\$1,400,000.00	\$15.00	\$1,500,000.00	\$15.00	\$1,500,000.00
415.0200	3 Inch Cold Planing	100,001-150,000	SY	\$4.40	\$660,000.00	\$7.45	\$1,117,500.00	\$10.20	\$1,530,000.00	\$13.50	\$2,025,000.00	\$15.00	\$2,250,000.00	\$13.00	\$1,950,000.00
416.0150	Scarify Existing Pavement	5,000-50,000	SY	\$1.80	\$90,000.00	\$2.40	\$120,000.00	\$10.90	\$545,000.00	\$4.50	\$225,000.00	\$6.00	\$300,000.00	\$10.00	\$500,000.00
416.0150	Scarify Existing Pavement	50,001-100,000	SY	\$1.70	\$170,000.00	\$2.05	\$205,000.00	\$8.90	\$890,000.00	\$4.00	\$400,000.00	\$6.00	\$600,000.00	\$10.00	\$1,000,000.00
416.0150	Scarify Existing Pavement	100,001-150,000	SY	\$1.65	\$247,500.00	\$1.70	\$255,000.00	\$7.70	\$1,155,000.00	\$4.00	\$600,000.00	\$6.00	\$900,000.00	\$10.00	\$1,500,000.00
417.1000	Cut Cores to Determine Existing Pavement Condition	1-50	Each	\$500.00	\$25,000.00	\$250.00	\$12,500.00	\$500.00	\$25,000.00	\$250.00	\$12,500.00	\$2,000.00	\$100,000.00	\$2,500.00	\$125,000.00
604.0100	Adjusting Manhole Cast Iron Frame and Cover	1-100	Each	\$3,410.00	\$341,000.00	\$5,000.00	\$500,000.00	\$3,200.00	\$320,000.00	\$2,500.00	\$250,000.00	\$5,000.00	\$500,000.00	\$2,500.00	\$250,000.00
623.0100	Loop Detector Sensing Unit (6 Ft x 6 Ft)	1-100	Each	\$1,120.00	\$112,000.00	\$2,500.00	\$250,000.00	\$1,300.00	\$130,000.00	\$1,400.00	\$140,000.00	\$1,600.00	\$160,000.00	\$3,000.00	\$300,000.00
623.0100	Loop Detector Sensing Unit (6 Ft Diameter)	1-100	Each	\$1,020.00	\$102,000.00	\$2,500.00	\$250,000.00	\$1,200.00	\$120,000.00	\$1,300.00	\$130,000.00	\$1,500.00	\$150,000.00	\$3,000.00	\$300,000.00
623.0300	Approach-Only Microwave Vehicle Detector	1-50	Each	\$4,580.00	\$229,000.00	\$5,000.00	\$250,000.00	\$2,700.00	\$135,000.00	\$2,900.00	\$145,000.00	\$3,518.48	\$175,924.00	\$5,000.00	\$250,000.00
627.0100	Vehicular Counting and Classification System Sensor Replacement	F.A.	F.A.	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00
645.0100	Traffic Control (Shoulder Closure, per day)	10-200	Each	\$17,800.00	\$3,560,000.00	\$1,975.00	\$395,000.00	\$1,300.00	\$260,000.00	\$8,200.00	\$1,640,000.00	\$5,500.00	\$1,100,000.00	\$2,000.00	\$400,000.00
645.0200	Traffic Control (Flagging Operation, per day)	10-200	Each	\$17,800.00	\$3,560,000.00	\$4,250.00	\$850,000.00	\$2,300.00	\$460,000.00	\$9,700.00	\$1,940,000.00	\$10,000.00	\$2,000,000.00	\$3,000.00	\$600,000.00
645.0300	Traffic Control (Single-Lane Closure, per day)	10-200	Each	\$17,800.00	\$3,560,000.00	\$3,450.00	\$690,000.00	\$2,300.00	\$460,000.00	\$8,700.00	\$1,740,000.00	\$8,700.00	\$1,740,000.00	\$3,500.00	\$700,000.00
645.1000	Electronic Message Board (per day)	10-400	Each	\$500.00	\$200,000.00	\$2,950.00	\$1,180,000.00	\$300.00	\$120,000.00	\$250.00	\$100,000.00	\$250.00	\$100,000.00	\$2,500.00	\$1,000,000.00
	Sum of All Items - Area 4				\$91,027,750.00		\$97,674,500.00		\$138,579,000.00		\$147,492,500.00		\$154,424,424.00		\$304,295,000.00
	certify that this is a true and correct tabulation of bids for this project.														
	Holly Guen	Mar 11, 2022							* Bid Rejected - Inst	ufficient Bid Bon	d	** Bid Rejected	- Insufficient SBE Go	al	
	Holly Yuen, Project Manager	Date							M.			:#S		Chaot No. 4 of 4 Ch	